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Use multiplication rules to determine the missing remainder for each problem.

1) 809÷2 = 404 r     1      2) 70÷5 = 14 r     0      

3) 63÷10 = 6 r     3      4) 55÷5 = 11 r     0      

5) 8,876÷5 = 1,775 r     1      6) 89÷2 = 44 r     1      

7) 8,170÷10 = 817 r     0      8) 9,429÷5 = 1,885 r     4      

9) 9,612÷2 = 4,806 r     0      10) 68÷2 = 34 r     0      

11) 8,279÷10 = 827 r     9      12) 1,593÷2 = 796 r     1      

13) 27÷5 = 5 r     2      14) 1,783÷2 = 891 r     1      

15) 8,064÷5 = 1,612 r     4      16) 1,366÷2 = 683 r     0      

17) 98÷5 = 19 r     3      18) 1,463÷10 = 146 r     3      

19) 330÷10 = 33 r     0      20) 8,246÷10 = 824 r     6      
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